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I 3% mwn: Y987w> Nia use 2 1Y — one for her, one for him, at wnwn; mynx prepare a 3+ for checking beforehand
I 2 mwn: consequences of 0T found on the o1y
a  If: found on his — or found on hers immediately - they are n®nv and liable for nxon j17p
b If: found on hers after a short time — they have paon nkmv and are exempt from 127p
i Challenge (to '8 n&pw in 1% clause): why not assume it to be blood of some lice?
ii ~ Answer (871 77): that place is considered “checked” for lice (i.e. lice cannot get in)
iii ~ Version 2: that place is considered too constricted to let lice in
1 Split the difference: if lice were found, smashed onto the 1y (away from the oT)
(a) If: we hold p112 - can’t be from there =»n7 is from her
(b) But if: we hold pinT — lice may have been there and the wnw smashed
iv  mpm: about using a checked (clean) 1y and finding o7 after a time
1 27 if she put it in her thigh and the next morning found o1 — n71 NRNY
(a) Challenge (?p°w “7): 27 had taught "nwwin”
(b) But: support - 5% (and RN 1) taught — N7 NRNO
2 qop 27.if she used an unchecked 1y and then put it in a basket, and the next morning found o7
(a) ~7n 77 when he was young, ruled it to be 8nv; when he became an elder — declared it 1o
(i) Clarification: did he mean that originally ®»n "1 declared it to be Xnv as N1 —then, when older — only bns?
1. Or: did he originally rule ®nv as on3 and then, when older, declared it to be completely mn0?
(ii) As7779x (same circumstance) — 17 declared 8nv as 73, 8N "7 declared it to be Xnv as ond
1. (°275) 71 ’7. argued that »27 should admit that there must be a v*135 (minimal Myw for ono)
a. 27 concurred — (so he should agree that it is a bn3 and no more)
b.  But:»27's thinking is that the 17w confirms that it isn’t lice-blood; once that has been estab-
lished, it comes from her body
2. In any case: this discussion must have taken place when &»n "1 was already an elder (and he would
challenge »27) =»when he was young, he ruled it to be fully nm1 nrnv
(b) Story (involving *01 73 S8YpHY? “11 227): which invokes a dispute between »17 and »0v "1 in this case:
(i) 227 rules that she is "RV (X1 "1 — per n™ — see below)
(if) ’pp ’1. rules that she is 1NV (X1 1 — per his own ruling — see below)
1. 8r2292: if a woman was urinating and saw o7
a.  »”if she was standing — nrnv; if sitting — nmno
b. ’p» 7 in either case she is nmnv
i.  Challenge (?WK *75 K277 7772 NN 7): N"21 reported that n™’s ruling is only as on> (but ’27 - 1)
ii. Answer (»wn "): our version of n”an is that n”’s ruling is as T (not merely on)
v Definition of ormn (immediately): noy 1YW — as soon as WY “exits”, 1y enters — could only work for nip
vi Implication of finding “later”: Rn»11 — they are liable for »5n nwr
1 Our &7 holds that nYn nwr is only when there are 2 pieces and he takes one (cf. : mn»>3)
II » mwn: definition of “short time” and consequences of finding o7 on her 71y after that time
a  Definition: enough time for her to get off the bed and wash out (n1yn noa)
b After that time: she has »”5yn nkn (like any other n”&v) and husband has no nkmv (for nm Ha)
i Dissent: "1 — husband has nyaw nxmv (0 Y»a)
1 Challenge (to time parameter): ¥"ar" rules that time-frame is enough for her to reach under pillow, take 1v and check
(a) Answerl (n77): "INR” in our Mmwn is “after that time”, to wit, that is the time about which n'non/y” disagree
(b) Answer2 (»wx *7): YW are identical; if she has no 7y in hand, ¥"a87’s “time”; if she does, our mwn’s “time”
(i) Challenge: x"ar1 asked wnan (in XwIR) and they had no tradition about the time-frame
1. He: told them about Myw in our Mwn; after that point, NkMY is pav and Y11 only has yan nrkmv
a. 77 Yy also has nyaw nrm (as N1 Y1)
b. 272 pany 77 5w 13 A7 “1 he may even enter w1pn and offer nmop!
i.  Note: must follow »xnw (v™1), else would have yan nrmv (and he didn’t finish &3, else p”a)
c. Note: in this Xn>73, ©'ndn are 7nYn completely — only works for n”), not 8™ (WX 1% RWP)
ii ~ But: nan agree with ™ in a case where she sees a ona that the husband has paon nyaw nkmv (for nm Y1)
1 (7awm) 27 they admit to Y1907 "NRMY, per ™
2 (unr 73y S8pw: only Ran91 IRIN IRML — per 117
(a) Justification: we would think that just as ¥”yn is v, so is DAN3 = none here, 5"np, since 718% VINY NV
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